| Efficiency vs Dxy |
0.1

5 : : : : : :
O S S S S
< : : : : : :
R e
o : : : : : : :
2 0.07 i e e e A
R

Xy

eff

e
-
oo

002
S s o s e e

.9 J-.Q:IIII.IIII.IIII.III .IIII.IIII.IIII

= C

< C

o | kLR R EETELEEE TETERIEITELEREE | | EERREEet ELELELEEE CELEEEEE  CERERERE
R L S | L S L

510 15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
| Efficiency vs Dz | —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

0.2 —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
N . ' T T T
> : : :

Q 0,18
GOAB]
o C : : : : :
£ 0,14 S S FO SO
e : : : : :
R I
R S . (I
0.08f e ot K0 SRS S
0.06F b o L
0.04F | (e R A —
0.02f R I - RS m—

1

Ratio

1.1

30 =2 i i 0 20 30
TP dz (cm)



	Contents
	Page 1


